R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, TX-4204

PR ODWUCTS, I

8811 West Market Street
Colfax, NC 27235

Glazed Fiberglass Door

"NON-IMPACT"
INSWING / OUTSWING

EVALUATED FOR USE IN THE STATE OF TEXAS

The Glazed Fiberglass Door system described herein complies with the 2006
International Residential Code (IRC), Sections R301 & R613 and the 2006
Infernational Building Code (IBC), Sections 1405.12, 1609, 1714.5, 2403 and 2404
(including Texas revisions) subject to the following conditions:

1.

2.

Anchors shall be as listed and spaced as shown in the details. Anchor
embedment to base material shall be beyond wall dressing or stucco.
When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.
Allowable design pressure requirements must be equal to or less than the
design pressure rating shown in the design pressure chart, sheet 1 of this
drawing.

Conditions not covered by this drawing are subject to further engineering
analysis.

TABLE OF CONTENTS

SHEET# | DESCRIPTION
1 Typical elevations, design pressures & general notes
Astragal details (Ultimate Flip Lever)
Astragal details (Ultimate Multi-point)
Astragal details (Ultimate Huricane)
Door panel details (flush glazing)

Horizontal cross sections
Vertical cross sections
Frame anchoring

(N[O || WIN

Endura

74.44" MAX. FRAME WIDTH

81.94" MAX. O.A. FRAME
HEIGHT (INSWING)

81.125" MAX. O.A.
FRAME HEIGHT (OUTSWING)

ui
aq
o
)
53 ¢
Ev— 0 [TTRTs}
3 a W ©
< n Z -
Al S8 BT
i 9m Q9
h_ﬂ. = .a g
5% gd; Ea
c )
ol 8o Z2
(=3 = <'-|n o0
> Hto nE
2 s¢e 9
a>no Né
Zgo 50
. om T o
oY O N -
@ ¢ o
O xZ
o Z 0 Lo
2 §%¢ 9%
a 250 O
o 50c¢ ep
A mon <%
o o5
2 EE: o
5 2k
- @ Wo
3 [=
0
a
%)
=
52
N
L
ks
~0c
5=
<<
g |28
= o
& e
)
Luy
. Iz
= S3
S &3
o =W
o o
x Q.
o

LFS
BY

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS| PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

INSWING

+40.0

-45.0

+45.0

-50.0

-40.0

1

N

NO., DATE

oatE: 8,/07/12

OUTSWING

+45.0

-45.0

+45.0

-45.0

-35.0

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING

TX—

NO.:
4204

SHEET

_1 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



"ON| SANVLINSNOJ aNIaTing "My 210z (o))

- SNOISIATY
ettt s o oz [ Gy ans 3m) g o ronl| [ ]|
PP S TUIS_ONLVINOILYY_0300v| v1/20/1 [ 1 ||| | S| -
G6SEE 14 OOMIDA O£Z Xog ‘O'd \Sﬂ&. ATBWISSY 80 18Vd [S47]39n1dv0 Nid TvowellSv M3N aav| 51/5/5 | 2 | S| .98
“ONI ‘SINVLINSNOD ONIQTINg S s g J 2_
> > |o
SZIL¥OL# "3'd Svxal V4NAN3 I p e a t
‘A'd ‘IPIWYDS 4 uopukl :Ag pedpdeld sjuswnooqQ :10Naoyd _MI 3 W S W %
3
r—‘v -
0 WoLLO9 .
R

,"" osr

$x
N

Sy

|

2.25"—’1 ——
2 oo

175" ——| |=—

26.0"
35.25" LATCH

40.75" DEADBOLT

_ W8L°L

33.75"

520"
1.82"
0.063" —] ——
é E 1
Astragal Section

60.0"

W99'C

77.75"
ANCHOR SCREW LOCATIONS
I

in
~N
Wmo
Hy N~ v
(1]
h _ =
- (UN)
(] 2
= Q «w (%e]
= = _._W._ w
N = o W
| H 5 m O
= <
o ¥ O
— Ll =
doL 5 & 3 o
5 8 =2 3
T o & N
< O ¢ L)
= O W O
o = = e
[=a) 1 _—
8 X =
>
: = 3
S & =
S - g
2 g 3
v
o e ®
- O Ll [
N o
=D 9
ote L
> 4
o= T
T O
N <
-0 M
* &
(Vo)
<
N
N4
0
2
Lp

2

22> \/

Lower Bolt Sleeve - Aluminum
ULTIMATE FLIP LEVER ASTRAGAL

£ >
E 8
= 8
= £
A D
! c
o €
> 5
o <
(73]
=
: '
s N\
|
m - B T e e e e L et  E—
8 N NN o m— T T i Y\ . S
L = Vi —_—m————————————————————————

N

Z-T ‘BMP’£0-70Zi-XL\uaInD\sBUIMeIQ\OT9 - IQ.L\SU] JO 3daQ sexaI\LNINVINYId einpuz\siuaiD\y



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 1-3

\ovm

{7
=

——— T

=

< N I

\‘

=
e

s,

Upper Bolt Sleeve - Aluminum

Upper Latch - Reinf Resin

Latch Actuator
Steel

Aluminum Body

(2)#6-32 X 5/8" MACHINE SCREWS

(4)#8 X 3" PFH WOOD SCREWS

Lower Latch - Reinf Resin

Lower Bolt Sleeve - Aluminum

ULTIMATE MULTI-POINT ASTRAGAL

(2)#8 X 1-1/2"
PFH WOOD SCREWS

S = == —— =
2.25" a—l -
33.75"
52.0"
60.0"

a 77.75" =
o ANCHOR SCREW LOCATIONS g
Upper Latch Lower Latch o
(- o]

== — - —a O =0 ——
|'<— ] .7 " ] .75" _—_I | .

— 7.5
7-5" 26‘0"
35.25" LATCH

Upper/Lower Bolt Actuator Lever - Zinc

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#8 X 1-1/2" PFH WOOD SCREWS

(2)#6-32 X 5/8" MACHINE SCREWS

| 40.75" DEADBOLT

1.82"

2.65"

0.063" —— |=—
l

Astragal Section

L

1.78"

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

813.659.9197

P.0. Box 230 Valrico FL. 33595
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
CERTIFICATE OF REGISTRATION # F—11852

ENDURA
ASTRAGAL DETAILS
(ULTIMATE MULTI—POINT)

PRODUCT:

LFS
BY

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

1

N

NO. DATE

oaTE: 8,/07,/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET 3 oF 8

@ 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 1-4

8" 35!! |
PUNCH OUT —\ {
=F o o -] = o o o %
2.75" ] = . (I 2.50n
3.75" - i
o ~——— 10.75" —— — 3.63
,Ql 18.75" — ; '
1 e ]8.50
26.75 26.50"
ANCHOR SCREW LOCATIONS
= O 03 O ] i =
< L 5.5" r[ 35.25"
<
6'-8" ALUMINUM ASTRAGAL ASSEMBLY
By Endura
BOLT RETAINERS
SLIDE BOLT ROD

VIEW A-A
Aluminum Astragal Assembly

2.65"

ULTIMATE HURRICANE ASTRAGAL

SLIDE BOLT ROD
MATL: Steel

#8 X 3/4" PFHWS

#8 X 3" PFH WS

’*——-‘» 1.63"
T

—‘ =—0.50"

BOLT RETAINER
MATL: 9-3/4" Aluminum

DEADBOLT STRIKE
PLATE

LATCH STRIKE
PLATE

LATCH & DEADBOLT DETAIL

BOTTOM

“
!

Ny

Sk

AR
T

oo
?

38.5"

SEE DETAIL

ASTRAGAL

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.
P.0. Box 230 Valrico FL. 33595

Documents Prepared By:

813.659.9197

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

ASTRAGAL DETAILS
(ULTIMATE HURRICANE)

LFS

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE |LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

N

—

NO.| DATE

oatE: 8/07/12

scate:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:

TX—-4204

SHEET 4 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.




"ON| SALNVLINSNOZJ aNiaing "m's 2102 @

T, S NClysEgy o SOl | (oNZVID BSOSy ML) [ SHOISIASE S0 ToN
STivi3d T3Nvd 5000 S41 7S ONILVINOILEV Slu|x|o| = 8_
L616°659°CL8 TON ®uoyd ST 55 a30av| v1/20/1 | L | 23| o
gegEE 14 GSOIBA 05F Xod “6°d \ww@. S41] 38N1dv0 NId IVOVHISY M3N aav| sL/s/s | z | N1 O
*ONI ‘SINVLINSNOD ONIaINg m = g | 5_
© . |B|E|g &
SZLYOL# "I'd Svxal VdNan - Bl e gl|E &
‘3'd ‘PIWyss 4 uopuiq :Ag peJspdeuld sjuswnooq :19N0g0dd M m W w m M
s’//-5
r/z.f\)b@ .m\
AN <iia
SN0 5 B
.w.w; .....IV .-.Nv‘\ ( .‘a. e m.«
I o Y o S VRN
& mﬂ/&o A
e = LA b
& -
D
_n..,..
o
o
oz W60 ~
T
Z

//
ﬁ

-—1.75" ——

7“2\ VERTICAL CROSS SECTION

oz
- — O
<o O e
53 Z & o 53
m@l 7 < < — =0
= E %WN oL w0
a3 oL = 5
& o =S50 «@
N <A
0 S o9 o
- — Pl R
Al:WN._.ly
3
A [ S o
o B o
W. o 4 =
u A L B i Eg
N >ul w = < WVM 24 mdm
< > = =0 < =0g
~r o = O
) (= ‘T <
2 &
m m Z =
oK 3 M &
— <
5 g 2
5 3
(U]
. ®
o)
[
2
> o
“ o S
%] o ~
2 a oz m = i
O O G i =
i % ~ -
L
> = =
(1] // Z <
/ (@)
N
ac
o)
X
mw
- LD

Door Panel
(fiberglass)

‘ E 5 >
X
>
THERMA TRU - Flush Glazed

>
\ B E
< 29 IHOEH 'O Ta
wa " {3
=0 IHOEH 1INV
o) 300A XYW ST’/
(U
=

S-T 'BMP£0-p0Zp-X L \WuaunD\sBUImMeIQ\0T9 - IGL\SUT JO 3daQ sexa1\LNINVINYId eInpua\siudlD\y



R:Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 1-6

SHIM SPACE

1/4" MAX.

0.15"
=— C'SINK
(TYP.)

A4

EXT. SHEATHING 7

2X FRAMING

(G >=0.42) x

LL/11111111717117)

L, JAMB

P

#10 X 2.5" PFH WOOD SCREW
—

ENDURA WEATHERSTRIP

50

(QEBD/PE 650)

INTERIOR

X

DRYWALL —/

#8 X 2.5" PFH WOOD SCREW

-

#8 X 3/4" PFH SMS

/"1 "\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

\ #8 X 1" PFH SMS

4" HINGE

EXTERIOR

CORNER PADS (TYP.)

ENDURA WEATHERSTRIP

(QEB

D/PE 650)

1~ DEADBOLT: KWIKSET SIGNATURE SERIES

I T~ LATCH: KWIKSET SIGNATURE SERIES

ULTIMATE FLIP LEVER ASTRAGAL

ULTIMATE MULTI-POINT ASTRAGAL
ULTIMATE HURRICANE ASTRAGAL

/ DOOR PANEL

\\

N

-

#8 X 3" PFH WS

#8 X 1" PFH WS

7“2\ HORIZONTAL CROSS SECTION

\&/

Lyndon F. Schmidt, P.E
TEXAS P.E. #104123

P.0. Box 230 Valrico FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

HORIZONTAL
CROSS SECTIONS

LFS
BY

REVISIONS

5/5/15 |ADD NEW ASTRAGAL PIN CAPTURE | LFS | PART OR ASSEMBLY:

1/07/14 |ADDED ARTICULATING SILL

NO,| DATE

2
1

OATE: 8/07/12

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET 6 oF 8

© zo12 R.W. BUILDING CONSULTANTS INC.



R:AClients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 1-7

— il 2X FRAMING ECECEScEeN Cfun
= /><_ (G>=0.42) EXTERIOR I INTERIOR IR AN “
’ ECICRE A \E 28 o EY
. SxS iT 2% W ER 9 uwoe
B S Gl 0% '8y B ET
EXT. SHEATHING 1 DRYWALL LSOk FrhiB. \ SR\ 7 e g (id ﬁ Lo Z i3 zd
f SEIYMiwiz Gz ;B2
\ | / ENDURA DOOR SWEEP 201 PNiY 1o oiod g§ phs 3>
‘ ¥ (DBK-ZAC) Gon. 191 FRSN|[ER &g 8B
’ * . L—#10Xx2.5" PFH ENDURA THRESHOLD G i Z fa ;0*2«& T 38e 8%
f L1 WOOD SCREW (Z-SERIES INSWING ARTICULATING g ind 2ob bh
1/4" MAX i 1 SILL w/ PIN CAPTURE] Nirbandec s B85 g¢
SHIM SPACé _\' 1 #ZACL4565 (shown) 3 2 é z %:
in 2 o i S o g o ©
it d P
| o [
DOOR PANEL ] i 5 & SE
HEAD S
ENDURA WEATHERSTRIP v 9
(QEBD/PE 650) 5
#10 X 2.5" PFH WOOD SCREW S
EXTERIOR W INTERIOR 1/4' X 2-3/4" ELCO OR N
ITW CONCRETE SCREW E 1 Q
() il
71"\ VERTICAL CROSS SECTION /5 "\ VERTICAL CROSS SECTION g |33
U Outswing shown inswing w Inswing configuration ol 2
also approved . < S
= x EE
= S| W
Q =
, , <k
INTERIOR  o0p pANEL EXTERIOR EXTERIOR / INTERIOR EXTERIOR / INTERIOR e
| puw] (an]
ENDURA WEATHERSTRIP x \l\ "
(QEBD/PE 650) DOOR PANEL DOOR PANEL P
ENDURA THRESHOLD ENDURA DOOR SWEEP \ ENDURA DOOR SWEEP \ 3
(Z-SERIES OUTSWING) (DBK-R) (DBK-AC) -
ZOB4565FN (shown) ENDURA THRESHOLD ENDURA THRESHOLD NN 5
(Z-SERIES INSWING ADJUSTABLE) (Z-SERIES INSWING ARTICULATING) —-@ﬁ@ 3 o
, ZAI4565FN (shown) \ ZACA4565FN (shown) ) & g
— f" 1D 23| |
&
=
Q
(&)
<
0
)
b

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4"ELCO OR
ITW CONCRETE SCREW

ALY

=

7“2\ VERTICAL CROSS SECTION

\U Outswing shown

7“3\ VERTICAL CROSS SECTION

#10 X 2.5" PFH WOOD SCREW

1/4' X 2-3/4" ELCO OR
ITW CONCRETE SCREW

\Z/ Inswing configuration

27X

N \
—L‘m
Q
0

#10 X 2.5" PFH WOOD SCREW

1/4" X 2-3/4" ELCO OR
[TW CONCRETE SCREW

/“ 4"\ VERTICAL CROSS SECTION

\U Inswing configuration

1/07/14 |ADDED ARTICULATING SILL

2
1

NO. DATE

OATE: 8,/07/12

scAlE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4204

SHEET 7/ oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Endura PERMANENT\Texas Dept of Ins\TDI - 610\Drawings\Current\TX-4204-07.dwg, 1-8

< o 2X framing (by others) RN ‘ o
w Z -~ - toe, e
$0% N o . ¢ Astragal Strike Plate ;’;-‘ 5 iin O %* ) § 22
) ol At , uw -
= () : 4o B S T
- A (f:)\\ ~°'. : : & 8 < 3 o g g
SEE HINGE I ! : ' ' = ke = Gl 12 S 5 53¢ QE
& T — 2 s > Fs
\ o ‘\\ ‘-"q P et a2 05 i
DETAIL 1 N $ IH DETAIL 1 3 — Vppades 5 8% z Eg
5 N #10X 2.5" PFH WS T F 5
N S o c
3] . - a =go 2
| DETAIL 1 § Bat £X
- m
J 2 S ! -
3 sex21/2priws  |E R g'a‘
P s E — / 3
[ PRREIE 3
H " 4” =
SEE HINGE #8 X 1"PFH WS [ ~ #8 X 3/4" PFH WS
DETAIL 2
- II — ~— 4" X 4" HINGE
\ 2
<& b ®
\\ i - < o
f H > E Qq:: I
: DETAIL2, 30R 4 = HINGE DETAIL 1 = gy B2
E / inh O o ) =
e — ',: O = m| <<
u I 1L 1H L I \Y e § W
%X /#8X2-1/2" PFH WS ) @ %
#10X 2.5" PFH WO ANl = .
S OD SCREW o | |le [ .
n " = I~ (@]
40P 2 (TYP) 1/4'X 2-3/4" ELCO OR HEXTPRHWS 41. HlelE—= #8 X 3/4" PFH WS 3 g
HINGE JAMB ITW CONCRETE SCREW 1— 4" X 4" HINGE
(TYP @ SILL) \) g g >
FLOOR SUBSTRATE MATERIAL (TYP.) FRAME ANCHORING b
CONCRETE (MIN. 3000 PSI) XX &
WOOD (G >=0.42) HINGE DETAIL 2 E
6 -
=|
o 9]
gl 2
32| B
53 2
=D a
2| |
=<
2l
CONCRETE ANCHOR NOTES: olo
1. Concrete anchor locations at the corners may be adjusted fo maintain the min. ASTRAGAL PIN CAPTURE #10 X 2.5" PFH WOOD SCREW K
edge distance to mortar joints. COMPONENT (UNDER CAP) 1/4" X 2-3/4" ELCO OR w3
2. Concrete anchor locations nofed as "MAX. ON CENTER" must be adjusted to ITW CONCRETE SCREW N e
maintain the min. edge distance to mortar joints, additional concrete anchors 1/2" DIA. HOLE (IN CAP) > S
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. 1/2" DI(\. HOLE i =
3. Concrete anchor table: ' . NITIZ
d s e £ e | [___fee | L o ASTRAGALPIN  [owe: 8,/07/72
~ ! = CAPTURE SCALE:  N.T.S.
. COMPONENT o= o
Imw
"w - LU = " 1} . . LFS
1apconN® | 1/ 1-3/ 2-1/2 3 DETAIL 2 DETAIL 2 DETAIL 3 DETAIL 4 e
ELCO . . " " Outswing Inswing Inswing Inswing TX—4204
uLTRACON®| 1/ 1-3/ 1 8 R
SHEET _8 oF 8

© 2012 R.W. BUILDING CONSULTANTS INC.




